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Which of the following districts are
covered under Mewat Area Development
Programme ?

(A) Alwar and Tonk

(B) Jhalawar and Pali

(C) Alwar and Bharatpur

(D) Alwar and Dholpur

e & Ryepre wdwA & oferta fea A 9
et Rt 1 qnfrer Rear T ¥ ?

(A) e@aX &K I

(B) WwETS ST el

(C) aT 3T WY

(D) et ST Hieyl

To whom the grant in aid for Panchayati
Raj Institutions received from Finance
Commission has to be released ?

(A) Zila Parishad

(B) Panchayat Samiti

(C) Gram Panchayat

(D) Collector

for ot ¥ YR W et % fag
T argem fed Ran S v 7

(A) foar aftwg

(B) yama gtHia

(C) U™ YEad

(D) HFX

First level elected body and basic unit of
democracy in Panchayati Raj system is -

(A) Gram Panchayat

(B) Panchayat Samiti

(C) Zila Parishad

(D) Parliament

T Tt e § v W o Fraff
frema ot W B ghEd TEE ¥ -
(A) M dErEd

(B) demad |k

(C) Torem uitwg

(D) W83

In which of the following District
Industries Centres of Rajasthan had
maximum number of large scale industries
operating as on 31 March 2017 7

(A) Bhilwara (B) Bhiwadi

(C) Udaipur (D) Jaipur (Urban)
et & ¥ o % few R ofeifs
¥= & 31 9 2017 % wattue 9 FW
Fodmed@d 7 1

(A) Hiearet (B) wrars!

(C) ST (D) sy (e d)

Which was the largest bajra producing
district of Rajasthan in 2015-16 ?

(A) Jaipur (B) Jodhpur

(C) Alwar (D) Nagaur

2015-16 ¥ TSTEIT T FAD ST SWEH
e @rr v ?

(A) SO
(C) T

 (B) uW
(D) AR

“Namda’ is manufactured at

(A) Tonk (B) Bundi
(C) Jaipur (D) Ajmer
HET T SURA FE@ ¥ |
(A) 3% B) ¥
(D) ST

(€) TR

In which year Pradhanmantri Krishi
Sinchai Yojana was implemented in
Rajasthan ?

o F e H Rierd dee w9
¥ fraifem & K @ 7

(A) 2015-16 (B) 2010-11

(C) 2001-02 (D) 2005-06

[P.TO.
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"Mitigating Poverty in Western Rajasthan"
(MPOWER) is being implemented with
the help of

(A) Asian Development Bank (ADB)
(B) World Bank

(C) Japan

(D) IFAD

“giyed Torgm ¥ Pl @ A @
weee’’ (MPOWER) fres geam @
foranfaa fear s T ¥ P

(A) Thrm fe Y% (ADB)

B) fasa =

(C) WU

(D) . u%.u SN,

Which is the most important raw material
used in the production of cement ?

(A) Lime stone

(B) Gypsum

(C) Both (A) and (B)

(D) None of these :
W< % S ¥ Uga ge9 Aewgl
o e 7

(A) I W TR

(B) foram

(C) = (A) 8T (B)

(D) T & iy e

Where is the Zinc Smelter of Hindustan
Zinc Ltd. located in Udaipur ?

(A) Khetri (B) Neemrana

(C) Debari (D) Nimbahera
fegeam i fafties 1 fie Swet Seage
Fasi R ¥ 7

(A) wd (B) S

(C) dardt (D) fae

LDC Exam 2018 (1st Paper) 16-09-2018
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What is the percentage of total inhabited
villages electrified in Rajasthan ?

TSRYT o P STTaTE TMial &1 fehat wfigra
fergrrpa & 7
(A) 90 (B) 98

(D) 92

(€) 100

Which is the State Nodal Agency of
Ministry of New and Renewal Energy,
Govt. of India for generation of energy
from non-conventional sources in
Rajasthan ?

(A) Rajasthan Renewable
Corporation Ltd.

(B) Rajasthan State Electricity Board
(C) Rajasthan
Foundation

(D) Jaipur Vidyut Vitaran Nigam Ltd.
ToeaE X AT Wl W Sl %
TAEA 3G WA WG & T T
TN Sl FTe Bl ST Tord! Dl
T 7 ‘

(A) TR e Har e

(B) orum g e 918

(C) TRRUM 18T Hell BESIH

(D) sRgR T femreor oy R

Energy

Renewal  Energy -

What is full form of CAZRI ?

(A) Central Agricultural Zone Research
Institute

: (B) Central Auto Zonal Research Institute

(C) Central Arid Zone Research Institute
(D) Central Arid Zonal Research Institute

BT (CAZRI) &1 g M9 &1 8 7
(A) ¥ i S REd SRR
(B) ¥z ol Wi fad $R=E
(C) 3w ufts o Red eiege
(D) &= e simw frad seege

[P.T.O.
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‘Chundari” work practised in Kota and
Baran districts of Rajasthan is a type of

(A) Tie and Dye (B) Pottery making
(C) Embroidery (D) Painting
TR & BT S TR e o 7915 s
AT GES W H THR H S |
(A) o wd 3 (B) uiedr @1 i
(C) w1 ) wers (D) A=A

Focus of last three annual plans for the
employment generation in Rajasthan is on :
(A) Primary sector

(B) Skill development

(C) 1T sector

(D) Construction of roads

T § ST Gt 3¢ el O aiien
el § g@ fear m ¥

(A) Wt & T (B) By fem 0¥
(C IT&I X (D) Tl & FET T

Match the cities with the Government
offices located there at the time of
Integration of Rajasthan :

(a) Bharatpur (1) High Court

(b) Jodhpur - (2) Education
Department

(c) Bikaner (3) Mining
Department

(d) Udaipur (4) Agriculture

- Department

et gl @Y TSR % @IS &

Wi Gl &Ewdl & a1 getad

DINT 4

(@) \W@IR (1) FTgHIE

(b) EYR (2) Tram v

(c) THMT 3) @t feawmr

(d) I&TYR - (4) By fawm

(A) @), (b)2), ©C), (D)
(B) @(2), b)1), (©)4), (d)3)
© @), ()@, ©B), (d)2)
D) @), (b)(1), (c)(2), (d)3)
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(©) gm=

Which one of the following dialects has
strong influence of Malvi ?

(A) Dhundhari (B) Ahirwati

(C) Vagadi (D) Mewati
Frafafea & @ g 9ol X A@d &
qTeRISTEl U ¥ ? |
(A) Gorl

(C) =amr

(B) SEErR
(D) Hamh

Which of the following is not included in
the category of Folk singing ?

(A) Dhola (B) Alha
(C) Dhrupad (D) Barahmasha
Frafafag & § we TEew AsTEw 6
g § witwfea w€f T ?
(A) Bre (B) ST

(D) sTEHNT

Which Sufi Saint made ‘Suval’ near
Nagaur as his centre and preached
peacefully from here ?

(A) Moinuddin Chisti

(B) Allah Baksh

(C) Raziuddin Hasan

(D) Sheikh Hamiduddin

forer ot wa N iR & T gaw e H
YT FF AT qiifages war fear ?
(A) FEgEN Fasch (B) orwnE w&

(C) e a7 (D) & FHIESEH

Who was the chief architect of
Kumbhalgarh Fort ?

(A) Manda_n” (B) Govind
(C) Napa (D) Punja
FETe g & wE Redl @ ar ?
(A) 7T (B) e
(C) = (D) o
" [P.T.O.
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When and where did the first revolt break
out in 1857 in Rajasthan ?

(A) 28 May 1857, Nasirabad

(B) 3 June 1857, Neemuch

(C) 21 August 1857, Mount Abu

(D) 9 September 1857, Ahuwa
e #1857 # use fsis wa ofiv el
gom ?

(A) 28 55 1857, TENETE

(B) 3 5@ 1857,

(C) 21 o 1857, AU 37

(D) 9 faddsx 1857, armgan

Which organisation was founded by
Swami Dayanand Saraswati in Udaipur ?
(A) Arya Samaj

(B) Ijlas Sabha

(C) Paropkarini Sabha

(D) Mahandraj Sabha

@Rl TgE TR ¥ IaqY A fee wwan
D WA 7
(A) o §\RT - (B) SOTOT 9T

(C) TUTHITON /AT (D) WETHT TH

Mahamandir in Jodhpur is the main seat
of which sect in Rajasthan ?

(A) Ramanuja Sect (B) Kabir Panth
(C) Dadu Panth (D) Nath Panth

YR 7 AEMFER TR % fee dvar
B e e ¥ 7

(A) THES HYe™ (B) HAIX 1Y
(D) T1g Uy

The ornament known as Seeshphool is
worn on which part of body ?

(A) Head (B) Nose

(C) Neck (D) Ear

MNITEH A STET 9TAR % e ot we
T ST ¥ P

A) iz (B) W%

(C) T (D) &

LDC Exam 2018 (1st Paper) 16-09-2018
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(A) TreR

Which one of the following festivals
doesn't fall in the month of Shravan/Sawan
in Rajasthan ?

(A) Nag Panchami

(B) Teej

(C) Raksha Bandhan

(D) Janamashtmi

T # Frea A | s @R e
| H T S ¥ 7

(A) =T Y

(B) <t

(C) s

(D) STy

"Tejaji Pashu Mela' of Rajasthan is famous
for which one of following breeds ?

(A) Nachna Camel

(B) Murrah Buffalo

(C) Chokhla Sheep

(D) Nagauri Cow

TSTRIT T “ ettt ug] wer frriferer et
7 4 frg ww & fog ot §7

(A) T ST

(B) ¢

(C) drew W3

(D) 7 T

Which one of the following rivers of
Rajasthan is not included in inland
drainage system ?

(A) Parvati (B) Kantali

(C) Kakni (D) Ghaggar
fr=ifea & ¥ PR oM W Uw 9
AT TATE YOI & =i -8} & ¢

(B) @iawt

(C) et (D) TR

[PT.O. .
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Which type of forest is most extensively
distributed in India ?

(A) Tropical Dry Evergreen Forest

(B) Tropical Semi Evergreen Forest
(C) Tropical Dry Deciduous Forest
(D) Himalayan Moist Temperate Forest

Wi ¥ g9 ot fomga 8 ¥ o
G GBI T ?

(A) Sumfead v FEMer O

(B) Suicdd™ o1 UEER a°

(C) SwrmfEdE gor wiuw @

(D) et 9 mHshaST o

Rural sex ratio of Rajasthan as per the
Census 2011 is —

ORI & 2011 Y SHUFT SITETT AT

o ¥ -
(A) 933 (B) 914
(€) 927 (D) 953

From which tree 'Charcoal’ is made of ?

(A) Babool (B) Pipal

(C) Dhokda (D) Palash
COREEE G B | A [ 1 | 1| A1
(A) Sgd (B) duw

(C) drmst (D) ganst

Where is 'Wood Fossil Park' situated ?
(A) Desert National Park

(B) Keoladev National Park

(C) Mukundra National Park

(D) Sariska National Park

qE Hied U’ wEl UK Rua ¥ 7

(A) T 76 SEH

(B) eeIed TSI S

(C) &= A3Fd U

(D) wfitent AyF@ UT%h

32
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34

35

- Which one of the following districts of

Rajasthan has minimum percent share of
forest 2.

(A) Jaisalmer
©) Cburu

(B) Baran
(D) Nagaur

TR % Frefafea et ¥ @ @

YA AR T & e 37
(A) ﬁw (B) ¢
© & (D) AR

Whiclfmiype of soil is mainly found in
Nagaur, Pali, Ajmer and Jaipur districts of
Rajasthan ?

(A) Red loam (B) Sierozems

(C) Brown soil (D) Desert soil

el Ay w0 @ Sl P o el 2
(A) T/ W (B) Mot
(D) &l

(©) ‘I&f#ﬁ

Which i is known as 'Hundred Island Area’
in Rajasthan ?

(A) Dungarpur (B) Jalore

(C) Udaipur (D) Banswara
(A) $TYR (B) ST
©) %‘ﬂg? (D) SigersT

'Malpura—Karauh plain’ in Rajasthan is a
part of which river basin ?

(A) Chambal basin
(B) Luni basin
(C) Banas basin
(D) Yamuna basin

TRAF # AEqT-H A B A e
T8 IR 1w A

(A) TwE AR

(B) qﬁr%ﬁm
(C) @ AR
(D) FgT St

[PTO.
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In which city of Rajasthan "The Sardar
Patel Global Centre for Security, Counter
Terrorism and Anti- msurgency" will be
established.

(A) Kota (B) Ajmer
(C) Jodhpur D) Jaipur
Tora™ % frw Y ¥ ‘g wER W
EE Yot Wi R, s S
WS E-gTal wﬁaﬁﬁmm ?
(A) F= (B) oY

(C) shagR (D) sy
Rajasthan Digifest 2017 was g"’)rganised‘ in

which city of Rajasthan during first week
of December 2017 ?

(A) Udaipur (B) Jaipur

(C) Kota (D) Jodhpur

&7 2017 % W @ % S TORAE
fefirhee 2017 =1 e oy % e
gTET ¥ femm T ? |

(A) SgIgX (B) sEgt

(C) & (D) U—ﬁug‘{

In which city of Raj'a/sthan,‘wags the World
Music Festival organised in 2018 ?

(A) Jaipur  (B) Alwa
(C) Udaipur (D) Kota
TR % e wrex ¥ Ry @i s @
ST 2018 ¥ fopmm mar 7

(A) SEgY (B) @
(C) sy (D) BT,

On 16t May, 2018 Ministry of Commerce
and Industry launched the mascot of
Intellectual Property. What is the name of
this mascot ?

mqﬁzoxsﬁrm&mamwm

W e s T ey ?
(A) IP Nani (B) IP Right
(C) IP Mr. Who (D) IP Jogi

LDC Exam 2018 (1st Paper) 16-09-2018
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Which of the following city of Uttar
Pradesh is not a part of Ramayan Circuit
Plan ?

(A) Ayodhya (B) Nandigram

(C) Chitrakoot (D) Varanasi

1 & ¥ ST IRy @1 B 9IET A9
Hithe AT BT AT TE T 7

(A) sErs (B) =

(C) feage (D) @I

In which of the following years, 100 years
of the Champaran Satyagrah was
completed ?

= 7 9 fre o Tourw g %

100 =¥ q¥ 3q ?
(A) 2016 (B) 2017
(C) 2018 (D) 2015

On which of the following days is the
National Voters Day celebrated in India ?

(B) 30 July
(©) 12 July (D) 30 January
e o fow R o & Wi weemn
Saq T s & 7
(A) 25 S9Erd (B) 30 @1
(C) 12 g (D) 30 el

Apurvi Chandela is related to which of
the following sport ? ;

(A) Wrestling (B) Atheletics

(C) Boxing (D) Rifle Shooting
aqEl g fr ¥ o T ow @ wafug
T ?

(A) g (B) wadfer

(©) s (D) T g

[PT.O.
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Tenzing Norgay National Adventure
Award-2017 was awarded to which of the
following sports person by the President
of India ?

(A) Sumrai Tete

(B) Oinam Bembem Devi
(C) Premlata Agrawal
(D) Harmanpreet Kaur

fr=r 4 ¥ form et @ sa % gl

I AN A N9 TS SEe-2017 |

e o ?

(A) TIWE W
(B) &ligTH IWEw I{
(C) HEaT STrETe
(D) T B

On which date former Prime Minister of
India Shri Atal Bihari Vajpayee passed
away ?

(A) 14 August 2018

(B) 15 August 2018

(C) 16 August 2018

" (D) 17 August 2018

46
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(©) Tww

IR % T TR o oredt Tl amorddy
&1 e &y gom 7 -

(A) 14 37T 2018

(B) 15 enTa 2018

(C) 16 o 2018

(D) 17 o 2018

Which of following patient is eligible for
the National Food Security Act benefits ?

(A) Leprosy (B) Tuberculosis
(C) AIDS (D) Cancer

e 4 @ aFa T TSE g gran
st & @l F g o ¥ 7

(A) T (B) ufk®

(D) ¥ET

47
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The 'Menstrual Hygiene Scheme' is meant
for which age group in Rajasthan ?

(A). 15 — 45 years (B) 13 — 40 years
(C) 15 - 30 years (D) 13 — 45 years
iy o wWRe e o™ § e

gt % e ¥ 7
(A) 1594599  (B) 13 40 99
(©) 159309 (D) 1394599

According to the Budget 2018-19, one

attendent travelling with a person 80 years
old will get concession of i
Rajasthan Roadways buses.

T91E 2018-19 % SITE 80 ¥ % =feRd &

W G B I GETAE Bl ST e
HEa A @ ge Breel |

(A) 10% (B) 40%

(€) 50% (D) 80%

In 2018, the Thumba Equatorial Rocket
Launching Station of India has completed

the UN; |
2018 ¥ ogean ey Wee Wb B9,
A ¥ UN. & gaiia & & 999
o X few ¥

®) 30

D) 20

(A) 40
(€) 50

India's first ‘Floating Treatment Wetland’
(FTW) started in which city of India ?

(A) Nagpur (B) Hyderabad
(C) Mumbai (D) Jaipur
% foom e # y& e mn ?
(A) MY (B) ¥xmme

(©) g=g (D) sExX

[P.T.O.
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SI unit of the power of a lens is :
(A) Diopter (B) Horse power

(C) Metre (D) Watt
oG @ gwar o SIane ¥ o
(A) STSITE (B) Bi€ qrax
(C) 9T (D) 4t

In which of the following devices,
electrical energy is converted into
mechanical energy ?

(A) Battery

(B) Electric Generator

(C) Electric Motor

(D) Computer

frer & @ Pow gft ¥ P ot o A
Folt H QA WEr § 7

(A) U B) fega wife

(©) faega wex (D) X

The Lenz's law is the consequence of the
conservation of

(A) charge

(B) momentum

(C) energy

(D) charge and energy both

W & Frm few ofdt & s @
o %2

(A) smasT (B) g

(C) St

(D) STa9T T Sl Q=1

Secondary cells are those which :
(A) cannot be recharged

(B) can be recharged

(C) can be used only once

(D) have emf more than 10V

Ypvs{l d I8 T ¥ —

(A) TS g:97or T B Wb

B) T g or 8 e ¥

(C) =i % e & I ST § @ W
o ¥

(D) foveet faars. 10V § wuEr &t §

55 The dependence of resistance (R) of a

56

57

—9—
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conducting wire on its length (/) is given
by : »

ferelt eTeren A % RO (R) oY Swohl Tms
() o Frefan Fr= % g & o 3

(A)Roc—} (B) Re<|

(C)Roc—l? D) R o ]?
I

In an electric generator

(A) chemical energy is converted into
electrical energy

(B) chemical energy is converted into heat
energy

(C) heat energy is converted into electrical
energy

(D) mechanical energy is converted into
electrical energy

T foga Wit |

(A) TRt e, fea wat § sgar
ST § |

(B) Tt Sell, 37 e SEwl
SR

(C) vw Fut, Tega ool & wael W ¥

(D) it S, fega w1t & & SR §

How much work is done in moving a
charge of 2 coulomb across two points
having a potential difference of 5V ?

(A) 0.4 Joule (B) 2.5 Joule
(C) 10 Joule (D) 20 Joule

5 dve favamk & @ faget & dm

2 A AN B o W A fear SRt fen
T ?
(A) 0.4 5 . (B) 2.5 5@
(C) 10 v (D) 20 s
[P.T.O.
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If you touch your left ear by right hand in
front of a plane mirror, it will be seen in
the mirror that your :

(A) right ear is touched by right hand
(B) left ear is touched by left hand

(C) left ear is touched by right hand
(D) right ear is touched by left hand
TR ST Teh FHaW T % W S0 A1
& W I T Y geld A adr ¥ qwn
fegm S9 e -

(A) T B B W TI A o ¥

(B) & HF & I w9 A gorr ¥

(C) o1¥ &M & T ¥ 7 B &
(D) ¥ & @B i T ¥ GOl ¥
Rainbow is formed due to the of
sunlight by tiny water droplets.

(A) Dispersion (B) Reflection

(C) Polarization (D) Interference

TRUY U B BB §&f & gl

B VI B H e £l
(A) ot fadgur (B) W&
(©) gau (D) =afcrenTor

A person suffering from shortsightedness
can see objects lying in between 20 ¢cm to
100 cm. To see objects lying at infinity he
has to use which lens and of what focal
length ?

(A) Concave lens, 20 cm

(B) Convex lens, 80 cm

(C) Convex lens, 120 cm

(D) Concave lens 100 cm

e gfic 9w & dfsa =R 20 a9 @
100 ¥ T Rea gl W I@ wHT §
T T R gl A Y@ % R 9
frg Tt 1 aun Reael wiwd g0 T o e
TgE B WA 7

(A) raad §E 20 T

(B) vOw & 80 VI

(C) Jaa wg 120 A

(D) oreme &g 100 T

—10—
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The objective of earthing in houses is :

(A) to provide as low resistance as
possible for conduction of current to
the ground

(B) to provide as high resistance as
possible for conduction of current to
the ground

(C) to provide high voltage to the
equipments

(D) to provide high current to the
equipments .

o § IR w1 9Red R

(A) TR F o A & 6 R v
B Sa1 &9 iy 9ee ST

(B) o & & ware % T fvan dwa
B I atfes Wi Yo BT

(C) SUHT o TeT Al Y& HE

(D) IUHTTN H! ST I Y& HT

If an object is placed at infinity from a
concave lens of focal length 15 cm, then
the distance of virtual image from the lens
will be :

(A) 10 cm B) 15cm

(€) 20 cm (D) at infinity
% 15 A0 weg g0 ¥ oEaw wd &
g v o X T ¥ | ST wffes
o o ¥ g el
(A) 10 g

(C) 20 &N

(B) 15 &t
(D) oM W

Which of the following colours is deviated
the most while passing through the prism ?

(A) Red (B) Yellow

(C) Green (D) Violet

fpg & ¥ a1 e ¥ orRE WoEss
wrer fafva gk & 7 |

(A) @ - (B 9

(C) & (D) &R

[PT.O.
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There are three copper wires of length and
cross-sectional area  given by

A .
(L, 4) (ZL, E]’ (-Ié-, ZA) respectively.

The resistance is minimum for the wire of
cross-sectional area -

A 4

A) 5

®B) 4

(€) 24 |

(D) It is same for all the three wires

AT dIY F A D TG G AR FE

e A (L, A) (2L, -gl) (-‘;i 2A)
2| fre weds & an @ whkiy g

B ?

A
(A) LY
®B) 4
(€) 24
(D) dF A &1 Wiy g9

Histone proteins involved in DNA
packaging have charge.

(A) Negative

(B) Positive

(C) Neutral

(D) Sometimes positive, sometimes
negative

8. T, T o R A o R wde
B/ AAN _ g 1

(A) HTTH

(B) €M

(C) ST |

(D) &1 woned HH GRS

66 The concentration of €O, in the

67

68
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atmosphere is -

(A) 7% B) 2%

(©) 0.03% (D) Zero

qrgwvEa § CO, @ ar et e ¥ 2
(A) 7% B) 2%

(C) 0.03% (D) =

Which of the following constitute the
structure of chromosome ?

(A) DNA and Histones

(B) RNA and Histones

(C) DNA and RNA

(D) DNA, RNA and Histones

TS & W ¥ Frataiea aftafra
T

@ & . T o Rem

(B) 9IR. T. T. & =M

(C) & . €. TF &R, W. T

(D) . T. T, AN . T & R

Which of the following is a cause of Heart
Attack ?

(A) Increase in cholesterol levels of body

(B) When a blood clot enters to the
arteries

- (C) When insufficient blood reaches the

heart
(D) All of these

&g HIE % I ¥
(A) iR ¥ B B W TG AT
(B) wufral ¥ T % g9h B qga

(C) T | T Dl g A H GG

(D) F &l

[PTO.
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If a father is Rh positive and mother Rh
negatlve the mother is given

1mmed1ately after her first delivery.
(A) I%h antigen

(B):;B,;hOGAM antibodies
(C){;%R;otease '

(D)y_A mixture of all of the given

zﬁ%ﬂ@%mm%%ﬁ#m 

ooy

SiiiEcd

(A) Rh it

(B) ?:aﬁmq EIREG
(C)ﬁﬁf‘aw

(D) 1%’3( T g @ g

fiininds

Which species of Mollusca yields
comimnercial Pearl ? '

(A){?ﬁoris (B) Helix

(C) Pmactzda (D) Octopus

Iﬁwzﬁr % fore gonfa & =EEifas Ak
T féﬁm o ¥ ?
(A) g?ﬁ?? (B) &ferery

(D) arRITq

WhICh of the following is the first
recomblnant vaccine ?

(A) Poho (B) AIDS

(C){_ ﬁepa‘utls B (D) Small Pox
e @ e wom gdtn St § 7
(A) Hifer (B) T

(C) ¥ewfew B! (D) ¥

72

73

74
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Which of the following branch of Botany
deals with development of improved Plant
varieties 7 '

(A) Plant Embryology

(B) Plant Breeding

(C) Plant Biochemistry

(D) Plant Anatomy

ey Tt bl IRl ST, S arey fre
% fyare 4 ddfm ¥ 7

(A) UTEY YOI

(B) 9T WS

(C) T SiEtdrEd

(D) wrey el o e

Which organism is commonly known as
'Friends of farmers' ?

(A) Cockroach (B) Earthworm
(C) Honey Bee (D) Housefly
Fe T 7

(A) ®iBl"g  (B) ¥gam
(C) Wy sl ©®) AFE

Which of the following is a unique feature
of 'Flavr Savr’ Tomato 7

(A) Deep red colour

(B) Resistance to insects
(C) Improved shelf life
(D) Sweet in flavour

frefafaa & € SFmen wET 9 AR
w7 fafdre @eor & 7

(A) TEU @ T

(B) @iz wirimen

(C) ¥EaX 9% (shelf) STE

(D) ¥t @R

[PTO.

LDC Exam 2018 (1st

75

76

77

85

Which of the following option is correct
for 'Father of Genetics' ? e

(A) F. H. C. Crick
(B) G. J. Mendel
(C) Carolus Linnaeus
(D) Birbal Sahni

‘SRS & TTh 68 HET S % ?
(A) T%. ug. | 5w Loy
(B) St 9. Av=H
(C) Hiww fafmw |
(D) dirEd qreEay o

The central dogma explains the transfer
of genetic information from ; to

(A) DNA to RNA ‘
(B) RNA to DNA

(C) DNA to protein
(D) RNA to protein
dgm s R ki
STARTE TSI & S & H‘c:ﬁi?r
HE T | £ 5

(A) . TT. T ¥ &R . T P
(B) oM. UA. T. 4 & @. Q. s
(C) 3. T T ¥ UEH
(D) o, T, T & W

The world Environment Day is celebrated

on
(A) 5th April (B) 5t May

(C) 5t June (D) 5th July

et werfercor e R Rt e o & 7
(A) 5 o (B) 578

©) 5 v (D) 5 9o

78

79

80

81
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During transfer of energy from one level
to the next, the energy continuously

(A) Increases (B) Remains same
(C) Decreases (D) Fluctuates

Tt % YAE TSI T, T WL ¥ T
qeh, AR Soll F —

(A) gRs BRI T

(B) ¥9M Tl &

(C) & Bl &

(D) IR =@ A §

Any given Boolean expression can be
implemented by using
(A) OR gates only

(B) AND gates only
(C) NAND and NOR gates
(D) NOT gates

a8 T g TEaeE &l
& = frfaa fear s e @
(A) %@ OR gates

(B) %aa AND gates

(C) NAND &t NOR gates

(D) NOT gates

is used to develop Back-end of
an application.

(A) GUI (B) Statement

(C) Database (D) Form

1 SYART TRBIH & JHUS Bl
fusita & % fag fean o ®

(A) e (B) ®He

(C) seE™ (D) wH

Which one of the following is not a search
engine ? :

(A) Google (B) Chrome
(C) Yahoo (D) Bing
frr & & e uw T 9N T ' 7
(A) T (B) &M
(C) T1g (D) fam
[PT.O.
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MENCA, an instrument that flew in first
Indian MARS Orbiter Mission, is basically

a/an spectrometer.
(A) Imaging (B) Optical
(C) X-Ray (D) Mass

AT (MENCA), T% SUYSTT S Ued
WA A efffeet e & Set e, qw
TR WEMeT ¥

(A) gafRT (B) aifeew

(C) T (D) 7/ (FE)

is not an Indian University
Satellite, launched for academic purpose.

(A) PRATHAM  (B) PISAT

(C) SWAYAM (D) SARAL

e § & S Jaftres SEva & ) vdRE
e WA fasafemg sque S § 7
(A) wI (B) drEe

(©) wwm (D) T

was a virus which was first
detected on ARPANET.

(A) Creeper . (B) Stuxnet

(C) Concept (D) Storm_Worm
T IEE o1 Eest uar yee
YR 3UME (ARPANET) X 9 |

(A) WX (B) ®aHE

(C) P (D) =&r o

The first space ship sent out of the solar
system was : :

(A) Chandrayan - 2 (B) Mangaly:

(C) Pioneer -1 (D) Pioneer- 10
qeqvee % qET WS T YU SRINE
R2LE B |

(A) T=TH —-2
(©) wrfrET — 1

(B) Hie@=
(D) 9rEiET ~ 10

- 14—
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(©) THEA

Who is known as the father of
Supercomputing ?

(A) Seymour Cray (B) Charles Babbage
(C) Alan Turing (D) Vint Cerf

YUY % faar & w9 # 69 S W
¥ ?

A) TR % (B) ud K=

© wH Fir (D) fie vk

Ethane with the molecular formula C,Hg
has -

(A) 6 covalent bonds
(B) 7 covalent bonds
(C) 8 covalent bonds
(D) 9 covalent bonds

TR foraer s ¥ C,H, ¥, qamar & —
(A) 6 GEEAR oEY
(B) 7 HeEUSH STTEY
(C) 8 wEEdRI JEy
(D) 9 HEEHRT oy
Which of the following s

thermodynamically most stable allotrope
of carbon ?7

(A) Graphite (B) Diamond

(C) Fullerene (D) Carbon-black
e & ¥ B SSTREE w9 ¥ gaite
Wl T ¥ 7 | “
(A) Y= (B) sTaHs

(C) FaiH (D) wIET-=1®

Which of the following is a polyamide
polymer ? ' :
(A) Nylon 6,6 (B) Terylene

(C) Teflon (D) Polythene

P # & wrTen e TEEE § 2
(A) TEEH 6,6  (B) R

(D) Tifwd=

[PTO.
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Mark incorreet statement

(A) CNG can be transported easily
through pipelines.

(B) CNG burns easily.

(C) CNG is cleaner fuel.

(D) CNG gives very less heat energy.

P o ¥ o Bue ¥

(A) CNG @ UIZUaTEs & ATeas § STEm

§ WG T GhAT T

(B) CNG oTEMT & el ¥ |

(C) CNG MY 389 ¥ |

(D) CNG S@ 9T q5a &H ST Fall Jall
¥

Clothes are not washed well in hard water

because -

(A) Water is hard to touch.

(B) Hard water contains insufficient salts
that speed up the cleansing process.

(C) The soap reacts to salts and form
scum instead of attacking to dirt
particle.

(D) Hard water is heavy.

FHAT T  HYL ST TLD F A6 T8l &

T ¥ s - |

(A) 9% 9@ B H %R BT 3 |

(B) %o &I ¥ Waol %Y B & o 9w
%7 ipaT @ Won ¥ |

(C) 97 49 & HU WX TEA & 9T

C W9l % | AN B WH @l
frmior & ¥

(D) A S WA BT ¥ |

Which of the following chemical acts as
catalyst for Williamson's continuous
etherification process ?

[ O = B B €3 B B L Lo B

Serfiemor uftpan F SARE & HH BT & 7
(A) HCl (B) NaCl
(C) KMnO, (D) H,S0,

93

94

95

96

97
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 (A) Pb,SO,

The chemical formula of lead sulphate is -
oS Tehe B TEENE T § -
(B) Pb(SO,),

(C) PbSO, (D) Pby(SO,)

- The largest bond angle is present in which

of the following ?
Frefalaa & ¥ fred geaq <79 %01 9
S R 7
(A) AsH,
(©) H,0

(B) NH,
(D) PH,

The metal which is found in liquid state at
room temperature -

(A) Scandium (B) Mercury

(C) Bromine (D) Chlorine

e oTg S HAL % A9 T §F HIRAT H U
TR § - |
(A) Whisgn
(C) sA

B) T
(D) w

Chloro-Fluoro carbons are consisted of -
(A) only carbons :

(B) only carbons and chlorine

(C) only carbon, chlorine and fluorine
(D) only chlorine and fluorine

FAR-FARI BT a0 ¥ —

(A) Haq HET G _
(B) %aw @EE UE RN o

(C) P B, T T WA §
(D) %I FAOT T TR

Formation of new substance occurs during
(A) Combustion of coal

(B) Evaporation of acetone

(C) Sublimation of camphor

(D) Melting of butter

T varef 1 e g ¥ -

(A) BOd & o H

(B) TERM & araq H

(C) R % FelumT §

(D) wog & fraem A

[P.T.O.
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When we cut an apple in pieces, then after
some time colour of the surface turns
brown, it is a —

(A) Physical change

(B) Chemical change

(C) Both physical and chemical change

(D) Either physical or chemical change

Y B A9 B THSI W Bred § A B 99

G TAE BT 1A WS |78 T § -

(A) iifoss uftads

(B) Tt ufads

(C) wifas a v afEds )

D) ar @ HHifae afads @ erte
LEERED ,

Select the correct statement for the
electrolysis of aqueous solution of sodium
chloride -

(A) Hydrogen is produced at cathode
(B) Hydrogen is produced at anode
(C) Chlorine is produced at cathode
(D) Sodium is deposited at cathode

HifeTH FlUss & S e & e
e & fow |/E wUA Bifey -

(A) HUE T FTEEET I 0 |

(B) THIS WX TSR S Bh |

(C) HE 9T FAT T=1 Bl |

(D) ¥l YT wifsww w9 € oo

Which one of the following is not type of
catalysis ?

(A) Homogeneous catalysis

(B) Heterogeneous catalysis

(C) Artificial catalysis

(D) Enzyme catalysis

Frer % 4 @ & SST T S  E 7
(A) gl I

(B) frwwth sa@or

(€) Fhm BT

(D) ToIEH TSR

101 The circumference of the base of conical

102

103

—-16~—

tent with height 9 m is 44 m. What is the
volume of air inside it ? (r =22/7)

(A) 642 m3 (B) 447 m3

(C) 446 m3 (D) 462 m3

9 AIeT G i & MBER F ¥ & SUR
@I U 44 WX ¥ | 39 o B a1g &
ST w1 ¥ ? (m=22/7)

(A) 64293
(C) 44643

(B) 44743
(D) 462413

If the numerical value of the surface area
of a sphere is equal to the numerical value
of its volume, then the radius of the sphere
is -

(A) 1 unit (B) 3 units

(©) S units (D) 10 units

e TH T % T B BT HCAHD
A §9% ST & WEAD A & G99

M @ B ¥ -
(A) 1358 (B) 3 &1
(C) 5 @1 (D) 10 3&T%

A Cuboidal glass box is 25 ¢m long;
20 cm wide and 10 cm height. The area of
glass box is —

(A) 15,000 cm®>  (B) 1,000 cm?
(C) 1,900 cm?2 (D) 1,800 cm?

T TMTHIGR Big & feer 25 ¥4 &,
0N deram 10qN SR 1B F
fesy &1 A ¥ - :

(A) 15,000 IH12
(C) 1,900 F2

(B) 1,000 &i2
(D) 1,800 T2

[PTO.
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If the length of diagonal of a cube is 443
cm, then its volume is -
(A) 32 cm? (B) 64 ¢cm3

(C) 192 cm? (D) 19243 cm3

IR e T ¥ Rret B T 443 AW E,
o 3" ST & —

(A) 32898 (B) 6483
() 192393 (D) 19243 1
The hour hand of clock is 6 cm long. What

is the area of the sector formed by this
hand in 90 minutes ?

(A) 7.7 cm? (B) 7.14 cm?

(C) 14.7 cm? (D) 14.14 cm?

T TP F U w6 W T T |
90 fire A 39 T3 T 0 N By wvs
P OATEA FTE ¢

(A) 7.7 942 (B) 7.14 392

(C) 14.7 &2 (D) 14.14 &2

The population of a village increases by
2% per year. If current population is
50,000, then find the population of village
after 2 years.

T TG B SEen gk 2% W A
gig & T | afy geum s 50,000
B, & o 9 Mg B Sween e
T ?

(A) 52,020
(C) 51,980

(B) 52,000
(D) 52,100

For which set of nmbers do the mean,
median and mode all have the same value?

el ¥ o6 w=ag & e, Wit
e §Ea% $1 99 A T 7

(A) 2,2,2,2,4 (B)1,33,35
€ 1,1,2,5,6 (D)1,1,1,2,5

sin%53° + cos”53° |

108 The value of is -

109

110
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sec2 37° —- taln2 37°

2

sin253° + ¢0s“ 53°

sec” 37° ~ tan® 37°

A) O B) 1

©) 2 D) e
cos45°

The value of 20+ cosec30° =

cos45°

FHAF T —
sec30° + cosec30°

i (6
(A) m ,(B) e

E(e)  Fa
% e R P

A cylindrical kaleidoscope is of length
25 cm and radius 3.5 cm. The curved
surface area of kaleidoscope is -

(A) 450 cm? (B) 500 cm?
(C) 525 cm? (D) 550 cm?
T YETHIT BINSIEHT Bl T 25 T

qar Breur 3.5 & ¥ | e & T
T %1 §TEA § —
(A) 450 T2
(C) 525 a2

(B) 500 &2
(D) 550 a2

[PT.O.
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A, B and C started a business by investing

4 6

some amount in the ratio of —:=—.—
2°3°5°

After 4 months, A increases his share by
50%. If the total profit at the end of one
year is T 18,900, then C's share in the
profit is -

A, BT CH -2-'% gﬂsagmaﬂf@a

g WY T ST Y fan | 4 Wi
qgETg A T 79 i 7 50% @1 g @l |
oft T ad & sfa ¥ @ @ T 18,900 ¥
@ W W C WA R -

(A) T 3,150 (B) T 3,500

(€) 6,300 (D) T 12,250

The Taxi charges in a city consist of a
fixed charge together with the charge for
the distance covered. For a distance of
7 km, the charge is ¥ 27 and for a distance
of 5 km, the charge is ¥ 21. What is the
charge per km ?

T T H Tt % Pifvam R % el
T Mg T 9T TSt gifaa fean s ¥
7 fopelt g & forg WS % 27 e S Re g0
% g e 21 % 1 vfo el TR B Y
(A) T 1 B) T2

© T3 D)X 4

The values of x and y satisfying the
2

equations 49 + ~5and
x+y x-—y

25 03 L oaen

X+y X =y

wimor A0 L 2 5 g
X+y . ox—y

2503 =1 B YR HC T

Xty x-=y :

x Ty b A E -
(A) x=4,y=5 B) x=6,y=4
C) x=4,y=6 D)y x=6,y=2

114

The square root of 10329796 is -

10329796 &1 =g & —
(A) 3214 (B) 3124
(©) 2134 (D) 2314

115

The ratio of third proportional to 8 and 12

“and the mean proportional between 4 and
9is -

$qg 12 % JAETIUC A9 4 T 9%

:WTW@WWGEW%—

(@) 3:1
(© 2:1

116

B) 1:3
D) 1:2

Study the following bar graph carefully to

‘answer the question :

ﬁ&w&m—mﬁamwr—xﬁwmmm
e 99T & T g

il A de (R F) —D>

No. of Candidates (In hundred)

Y
I

-------------

i
NAaD
.

"o A B €C D E Y%
Institutions / wm —)

"I Appeared Candidates / suftem suiane

-18-

[] Passed Candidates / st selgar

‘For which institution, the difference

_between the appeared candidates and the
fpassed candidates is maximum ?

ﬁ‘nﬂw%m Syt Tufiger g

weiot griaTt @ T ¥ o st
S
A) C B) D
©) A (D) E
[P.T.O.
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of depression of the top and bottom of a
tower are 30° and 60° respecnvely, then
the height of the tower is -

(A) 30m
(B) 3043 m
© (90-3043)m

(D) 60m
90 et =g % ofif & ww < & ofrd
TH T & ATTHT BT HH: 309 TH 600
R R B o

(A) 30

(B) 3043 &

© (90-30V3)

(D) 607

In a triangle ABC if -
244 =34B =6£C, then the measure
of £A4 is

ABC s % afg 244 = 343 6éC
T LA B AW & -

A ®) /
© % DA

A ball of silver 4 cm in diameter is:covered
with gold. If the volume of the gold and
silver are equal, then the thickness of gold

o (2”3 = 1.2595)

(A) 0.5038cm  (B) 0.519 cm

(C) 1.038 cm D)2em

4 T =g B @ T e B "eﬁéf % BT
W ¥ |y W ol o amm T
A e - (2”3 - 1,,‘2‘;595)
(A) 0.503899  (B) 0.519Q

(C) 1.038 3 (D) 299

126 A cube and a cuboid have the same

121

122

o
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(C) T 5,500

volume. The dimensions of the cuboid are
in ratio of 1:2:4. If the difference
between the cost of polishing the cuboid
and cube at the rate of ¥ 5 per m? is T 80
then their volumes are -

(A) 64 m3 B) 128 m3

(C) 256 m3 D) 512 m3

U% O QU1 U9 T STEaR WU ® O
YA % SATAFN W STUE 1:2:4 %
Tfs 5 uiy ot ) @) 5T @ 9w qur =mw
% Ui % WFT B ST T 80 T, @
ITHT ST & -

(A) 6473
(C) 256 w3

(B) 128 4
(D) 512 ¥

The marked price of a watch is ¥ 720.
A man buys the same for ¥ 550.80 after
getting two successive discounts. If the
first discount is 10% then what is the rate
of second discount ?

fooell wSt & sifha T T 7203 1 o
S IW ST &I & HANK g I HIA
& vgar ¥ 550.80 ¥ wlEa ¢ 1 af Tew
T 10% TN @I B qu R ¥ ?
(A) 12% (B) 14%

©) 15% (D) 18%

The compound interest for ¥ 25,000 at
10% per annum compounded yearly for
2 years is -

% 25,000 w1 10% @i =7 @ &% 9
2 7 &1 Gyl = ¥, wrefs s aiife
[T -

(A) T 5,000 (B) T 5250

(D) % 5,750

[PTO.
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A chair is bought for ¥ 3,000 and sold at
a loss of 6%. Its selling price is -

& Pl T 3,000 ¥ O TS 9T 6% B
oty @ ¥ | ol o Rem e R -

(A) T 2,550 (B) T 2,740
(C) T 2,820 (D) T 2,950

If 60% of students in a school are boys
and the total number of girls in the school
is 460, the number of boys in the school
is -

ot we fremera § 60% fenedf wes ¥ @
fererer § weferat @1 g dear 460 ¥,
foome § wewl @ e ¥ -

(A) 276 (B) 230

(C) 184 (D) 690

The value of logy 256 is -
logy 256 &1 WM & —

®B) 6
D8

(A) 5
©) 7

If the area of a square is 16 cm?, then the
area of the square obtained by joining the
mid-points of its sides in order is —

(A) 8 cm? (B) 10 cm?

€) 82 em?2 (D) 1042 cm?

i T T H ATHA 16 A2 T, T gER!
el % A fagelt @t W ¥ B W
T Tl & e § -

(A) 88W2 (B) 10 TH2

©) 82 (D) 1042 T2

127 .
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The co-ordinates of point P which divides
the line segment joining the points

A(4,-5) and B(6,3) in the ratio 2:5
18 =

g P % Frdote = g 4(4,-5) T
B(6,3) %t P aTell Y@@ W 2: 5%
Fae A i s ® -

~19 32 -19 =32
w(FF) o (FF

-32 19 -
©(F3) o(FF)

Which of the following co-ordinates lie in
second Quadrant ?

fr ¥ § S Eaw i aguta A
Ram 3 ?

A 2, 3)
© G,-2)

® 2.3
D) (2, -3)

The fouf triangles formed by joining the
pairs of mid points of the sides of a given
triangle are congruent if the given triangle
is -

(A) isosceles triangle

(B) equilateral triangle

(C) right angled triangle

(D) of any shape

Rt R T freget @ W s % we
firgall 1 Prem o et =l gt weitren
Rk T By ¥ -

(A) wrfEaTg Brawt

(B) wwaTg Prgst
(C) wHIT Brgst

(D) B W i

[PTO.

130 ABCD is a rhombus in which the altitude

131

132

133

85]

from D to side AB bisects AB, then one
of the angle of the rhombus is -

ABCD U q9EgHe ¥ f5e D ¥ AB 13
STAT T W AB Wl gafyeiT & T
T TAAGHS BT Ueb &BIo7 & —
(A) 450 (B) 500
(©) 60° (D) 90°

?f 48% of x is equal to 80% of y, then x : ¥y
is -
s x BT 48%, y % 80% ¥ IS T, a9
Xy ¥ -
(A) 5:4
<€) 3:5

(B) 5:2
D) 5:3

The ratio of ages of son and fatheris 1 : 13.
After 10 years the ratio becomes 1 : 3, then
present age of son is -

(A) 2 years (B) 4 years
) 6 years (D) 8 years
S SR fram & g @7 egu 1:13 % |
I 10 a9t % 91 Srgurd 1:3 ¥ W &,

dl 92 & o ey ¥ -
(A) 299 (B) 4 af
(C) 6 =9 (D) 8 =¥

Factors of (1 ~3x? 4354 - x6) are —

(1—3x2+3x»4—);6) % ToeETE ¥ - |

@) (1-x)% (1+x)*

134 The value of 105 x 105 x 105 is -

105 x 105 x 105 &1 719 & —
(A) 1,517,625 (B) 1,158,625
(C) 1,157,625 (D) 1,156,625

135 Given below in the table is the decadal

data of population of a country -

Year : 195111961 1197119811991

2001 {2011

Population
(Millions) :

200§ 21 24- 127 130 32 35

(C) ~1221%

The average decédal growth rate (%) of
population is -
(A) ~5% B) ~6.73%

D) ~9.82%
frefofaa it & w391 & ot %
HTH Ifps o ¥

Ty 1951119611971 |1981]1991

200112011

SRS
(Frfeg )

2001 21 24 127 {301 32 35

136
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AT 1 ST T3 gRe & (%) & -
(A) ~5% (B) ~6.73%
(C) ~1221% (D) ~9.82%

2.2 dm> of copper is to be drawn into a
cylindrical wire 0.5 cm in diameter, then
the length of the wire is -

(A) 100 m (B) 110 m
(C) 110.5m (D) 112 m
2.2 9 SHMIET 919 % 0.5 90 =09 % us

IABR aR § @Far 96T E, 99 aR @
g T -

(A) 100%
(C) 110.5+

B) 1104
(D) 112+

[P.T.O.



137 The volume of a conical tent is 1232 m3
and the area of the base is 154 m? then its

curved surface area is -
(A) 500 m? (B) 550 m2
(C) 600 m? (D) 625 m?

TH FER T B AT 123291 e
SO%h ST &1 &% 154 W2 ¥ o 39
T JEIT FAFA § -

(B) 550912

(A) 500712

(C) 600 72 (D) 62542

138 The outer edge of a cubical water tank
with lid is 180 cm long. Then the number
of tiles covered the outer surface of the
tank excluding the base with square tiles

of side 30 cm is -

TS TEFET Al ORI U @l @ H
A% el R 180 o WA ¥ 1
frw 30 & s Ol aieRR TEEl A

e ¥ -
(A) 150 (B) 160
(C) 180 (D) 200

139 If radius of a circle is increased by 6%
then area of circle will be increased by - |

ofy fadl g7 o B ¥ 6% @t gk T
¥ ga & dewd ¥ ghg B -

140 If each side of a rectangle is increased by
20%, then area of rectangle will be
increased by -

qfy T% SITad B 9A% S § 20% #H gha
¥, 79 o F dww § ghg e -
(A) 40% B) 34%

(C) 20% (D) 44%

141 If the three sides of a right angled triangle

are in arithmetic progression, then the sides -

are - -
e T Pt 1 A g af w
IHF T A, ] ¥ -

A 1,23 (B) 2,3,4

(C) 3,4,5 D) 4,5,6

142 Solution of the equation
x+5 x-5 25,
+ is

2 3 6
5 x+5 x—5=_2__5_mw%__
2 3 6
A) x=1 B) x=2
(C) x=3 (D) x=4

143 The prime factors of 5005 are -
5005 % STMIYT UHETE T —
(A) 3,57, 11
B) 5, 11, 13, 17
(C) 5,7,13,17
D) 57,11, 13

144 Cube root of 704969 is -

. 704969 T TN & —
(A) 12.64% (B) 12.36% (A) 69 (B) 79
(C) 12% (D) 36% (C) 89 D) 99
851 —22 — [P.T.O.

147 PQRS is a trapezium with PQ || RS.

145 Square of the number 3589 is -
e 3589 @1 ot ¥ -
(A) 12800921 (B) 12088921
(C) 12880921 (D) 12889021

146 If the co-ordinates of extremities of
diameter of a circle are (7, ~1), (5, 3),
then its centre and radius are -

TH I % o % iR Rl ¥ Fryie
g, 1), (5, 3) ¥, O @ Hw qur B
@) (6, 1), ¥5
®B) (6,1), V2

©) (1,-2),5

® (1,-2),5

U and V are points on non-parallel sides
PS and QR respectively such that UV is
parallel to PQ, then

PQRS ©#% wer wgy« ¥, Wel PQ || RS.
U e V sreamray gemstt PS a1 QR 1

g 39 R ¥ 5 UV et ¥ PQ %,
g
S R
Ul — — — — —\V
P Q

(A) SU-RV =UP-VQ
(B) SU-UP =RV -VQ

S
) U _ UP
RV  VQ
SU _ UP
D) —=—
) VQ RV
85] —23—
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149

150

148 In the given figure if

ZAOC + £ZBOD = 85°, then the
value of ZCOD is -

e CRCER: i

ZAOC + ZBOD = 85°, a§ ZCOD
HAE ¥ -

c D
“t o B
(A) 95° (B) 105°
(©) 115° (D) 125°

The selling price of an article is T 1,840
and the discount given is 8%. The marked
price of the article is -

S g o e e T 1,840 99T w31 8%
R, W g W osifea g ¥ -

(A) ¥ 2,000 (B) ¥ 2,400

(©) % 1,600 (D) ¥ 1,200

The simple interest on ¥ 1,650 at the rate
of 4% p.a. is less by ¥ 30 than the interest
on ¥ 1,800 calculated at the same rate.
The time period of money lent is -

(A) 3 years (B) 4 years

(©) 5 years D) 6 years

R 1,650 TT 4% 1N 3T § GIEoT 1T,
T T ¥ T 1,800 W ST ww §
3099 § | SuR e "R a1 &) weamaty
%—._

A) 399
©) 5af

(B) 4 T¢
(D) 6 a9

[PTO.





